25. AYHE AZE FSAKL

ret
Ofek

0 20114 A YAMHOIM HHH FSAK; dS EHH, 29N O[St ZARK} £=7F 30 2,123
HoZ MM ZAMKIC| 33.8%= X}X|, 30M| O|Af 34A| O|8}Q EAMKILS 38+ 1,025
HOZ 326%S XIX|, 35M Ol 39A| O|sH= 18 7,549H 22 185%E AtX|, d2|1
40M| O|At2 10t 4318HOZ 151%= KX|&t

<H 1> A AEE ASE SAAL o1242011)

(EHe )
sus o1z BARL 4 s
= ARS 29M| o[t 30~34M| 35~30M 40M| OA -
22 17,627 18,329 5722 2543 44,221
HIC|274I 481 858 551 328 2218
- SHIRA 1,789 1725 632 389 4585
9 Hﬂaé PCI 11 33 46 32 122
oplol=AA 198 226 204 85 713
B | 20,106 21171 7,205 3377 51,859
HIZ(%) 338 408 139 65 1000
ZRE A 2 11,936 9752 10,148 10,325 42,161
g Tixt AUE 2HA 81 102 196 616 995
g 12,017 9,854 10,344 10,941 43156
HIZ(%) 278 28 240 254 1000
[2%] 32,123 31,025 17,549 14,318 95,015
HIZ(%) 338 326 185 15.1 1000
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